Notes 6-6





Isosceles Trapezoids
	




	

	




	

	




	




Proof:
Given: ABCD is an isosceles trapezoid                                        (draw pic here pg 439)
Prove: AC is congruent to BD
























Theorem: Trapezoid Midsegment Theorem (copy box pg 441)
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Trapezoid ABCD is shown. If FG is parallel to AD, what is the x-coordinate of

point G?

Determine the value of x.
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Use Properties of Kites

Q
If WXYZ is a kite, show how to find If MNPQ is a kite, show how to find NP.
msLXYZ
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A.If m£BAD = 38 and m£BCD = 50,
show how to find mZADC.

B.If BT = 5 and TC = 8, show how to find CD.
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Find WT,if ZX =20 and TY = |5. If ABCD is a kite, find m£C.
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Vocabulary

trapezoid n. A quadrilateral with
exactly one pair of parallel sides.The
parallel sides of a trapezoid are called
bases. The nonparallel sides are called
legs. The pairs of angles with their
vertices at endpoints of the same
base are called base angles.

bases n. the parallel sides of a
trapezoid

legs of a trapezoid n. the
nonparallel sides of a trapezoid

base angles n. angles that are
formed by the base and one of
the legs of a trapezoid
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isosceles trapezoid n. a trapezoid in
which the legs are congruent, both
pairs of base angles are congruent, and
the diagonals are congruent

midsegment of a trapezoid n.a
segment that connects the legs of a
trapezoid

kite n.a quadrilateral with exactly two
distinct pairs of adjacent congruent sides
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Each side of the basket shown is an isosceles trapezoid. ‘
If mZJML =130, KN = 6.7 feet,and MN = 3.6 feet, show ° “
how to find each measure.

a. mZMJK b. JL M t
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Quadrilateral ABCD has vertices A(5, 1), B(-3,—1), C(~2, 3),and D(2, 4).

Show that ABCD is a trapezoid and determine
whether it is an isosceles trapezoid.
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Quadrilateral QRST has vertices Q(—8,—4), R(0, 8), S(6,8), and T(~6,—10).

Show that QRST is a trapezoid and determine
whether it is an isosceles trapezoid.
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In the figure, MN is the midsegment of trapezoid FGJK.

Show how to determine the value of x.




